H & 0l & AHS B Ml A

oSuH o™
M MSAE gds A
Chel: MSAIE 2435t

SA - ZE . BR() - HRAR - BES of v G o HIDE2
S ML 20,945,015 20,278,442 666,573
= 517,510
Jl 999,247
= 2,694,936
Al 16,733,322
HEANE 243 N 1,017,860 1,201,860 184,000
7l 250,000
= 138,900
Al 628,960
dSAE 243t 1,017,860 1,201,860 184,000
Il 250,000
= 138,900
Al 628,960
HEAE S A (HE) 210,000 420,000 /210,000
S 126,000
Al 84,000
401 AlZHIZ SO 210,000 420,000 210,000
== 126,000
Al 84,000
01 Al&HI 210,000 420,000 A210,000
OFESAIE A HSAIS
210,000,000& *14] 210,000
S 126,000
Al 84,000
HEANE 243 164,060 94,060 70,000
201 eer23y| 2,900 2,900 0
01 AtR2t2lHI 2,900 2,900 0
O=\MHe =22 gR(2310t 5)
1,900,000& *14] 1,900
OHSEANE 243t & 2A =R
1,000,000 *14] 1,000
202 04| 3,000 3,000
01 =LHA LI 3,000 3,000
OHSAE 243t R 0|
150,000 4 & +53] 3,000
307 @120l & 8,160 8,160
02 QB AHANEEX 8,160 8,160
OHSAIE AMEOHLIN KIZAIS (2R E X
) 1,700,000 #40H 2+ 122 *10% 8,160
401 AlEHIZL S0 150,000 80,000 70,000
01 Al&H| 150,000 80,000 70,000
OArR2 2HZIHE AL
100,000,000 14 100,000




2A:

g3 BEAY 283 NS
Hel: HSAE 243 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSZAE ORIZEE &
30,000,000& »14] 30,000
ORRAIT AHYX sHEH SX
20,000,000& * 14! 20,000
20238 =M ZHIAS 500,000 334,000 166,000
Jl 250,000
Al 250,000
401 Al HIZL 201 500,000 334,000 166,000
Il 250,000
Al 250,000
01 Al&HI 500,000 334,000 166,000
OSFAE =HHEHIAY
300,000,000 * 14 300,000
) 150,000
Al 150,000
OZTE LAY =ML FHIA
200,000,000& *14] 200,000
Il 100,000
Al 100,000
HSAIZE OIHE KA 43,000 3,000 40,000
201 Ler=23 | 40,000 0 40,000
03 A2 Y| 40,000 0 40,000
ORSAIE HEIOIE 2E8A 2 20X
= 40,000,000 *12] 40,000
301 EtE NS 3,000 3,000
14 0Bt 2as 3,000 3,000
Od= A I
3,000,000& *14] 3,000
HSANE SH3NE |54 75,000 325,000 250,000
308 AHXIEMSOIH 75,000 325,000 250,000
11 SIS0t HAS A 75,000 325,000 250,000
OFSAE UXE HSAE sd(2ER)
75,000,000 * 14 75,000
20238 HSAE SHEM X2 A 25,800 25,800 0
s 12,900
Al 12,900
307 212+01& 25,800 25,800 0
[ 12,900
Al 12,900
02 IHB A HE L 25,800 25,800 0
02023 HMSAE HHSH 288 X2
25,800,000& » 14 25,800
= 12,900
Al 12,900
stas oy 6,058,956 5,816,403 242,553
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2A:

X XH -
o=

ik ass o EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 11,900
=ctel 2ty 243t X2 12,800 9,600 3,200
== 4,000
Al 8,800
307 212+01& 12,800 0 12,800
< 4,000
Al 8,800
02 2IZHBHAIHE £ 12,800 0 12,800
O2ctel Tty X2 A
4,000,000& *47H 2=+80f% 12,800
= 4,000
Al 8,800
el S MEgs A3 0 N 357,000 357,000 0
= 214,200
Al 142,800
307 212+01& 367,000 357,000 0
= 214,200
Al 142,800
02 LB HAHE L 357,000 357,000 0
0024l S MBS AP0 N
357,000,000 x 14 357,000
= 214,200
Al 142,800
=2l N2 95,000 129,000 A\34,000
= 95,000
201 er23| 4,100 2,100 2,000
= 4,100
01 At22t2lt] 4,100 2,100 2,000
Og=2el 23| 4,100,000 * 14 4,100
= 4,100
202 04| 900 900 0
= 900
01 =LHAHI 900 900 0
OgzRAAR =T ol
90,0003 x5 »23] 900
= 900
206 MH=Hl 90,000 126,000 236,000
= 90,000
01 M= H| 90,000 126,000 236,000
OF2= AT MA
500 *180,0000H 90,000
= 90,000
ZXRMESH K& 100,250 0 100,250
< 30,075




SN SYEH
B S)IAS OFF
&Rl SHEo oHE X me &Y (SH9 H2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
Al 70,175
307 gI2Hol M 100,250 0 100,250
= 30,075
Al 70,175
02 QIZHBAAIHE X 100,250 0 100,250
ORMUX A4 AXH Tl KA
& 100,250,000 14 100,250
= 30,075
Al 70,175
P SASYM ZEN KA 16,500 0 16,500
& 6,000
Al 10,500
307 QI2Hol 16,500 0 16,500
= 6,000
Al 10,500
02 QIZHBAAIHE X 16,500 0 16,500
O sASIM ZEMW X2 A
10,000, 0002 *3JH 2 +55% 16,500
= 6,000
Al 10,500
CE-AIF €Y sE48 BE D8 26,500 0 26,500
& 7,950
Al 18,550
307 gI2tol 26,500 0 26,500
& 7,950
Al 18,550
02 QIZHBAAIHE X 26,500 0 26,500
O-AIZ B =54+42 B= J|2H
26,500,000 3 14! 26,500
= 7,950
Al 18,550
=2 33y 25t 2,111,372 2,097,228 14,144
= 63,468
| 310,000
& 634,077
Al 1,108,827
sge=s X3 221,620 188,370 33,250
& 56,950
Al 164,670
201 L2 | 13,870 1,820 12,050
01 ArR2eltl 13,870 1,820 12,050
Oo2g==< 6,370
EOlEE U AZNAEM AOIE (SN
3 S) 2d+E 70,0003 *13H 73] 6,370




SN SYEH
B S)IAS OFF
el =Y 28y d3t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odit=3=H| 7,500
—sAelds 28 € 82 S
500,000& 72| 3,500
-8 At MESK 2EI)Ie=8
200,000& »202 K| 4,000
202 04l 3,000 1,800 1,200
01 2LHoIH 3,000 1,800 1,200
OsdE:R A=A Ol
150, 0003 4 & »33] 1,800
OsHS & XM& 2 SXEA E3H|
20,0002 =2 +63|+53 1,200
301 EtE NS 204,750 184,750 20,000
< 56,950
Al 147,800
o4 dstsdstis 4,750 4,750 0
Osogel M4 stiis K&
950,000 6% 4,750
= 950
Al 3,800
14 0Bt 243 200,000 180,000 20,000
ONd=s0go =2
200,000 %1,000& 200,000
== 56,000
Al 144,000
sXO0IZAEH A K& 27,078 47,662 A20,584
= 6,638
Al 20,440
101 @124H| 24,000 42,8% A18,8%
= 4,483
Al 19,517
04 JIZtN22 XS 2+ 24,000 42,89%6 18,896
OsXl OIS ZAE 12|
2,000,000& ~4E 34 & 24,000
= 4,483
Al 19,517
201 el 3,078 4,766 1,688
= 2,19
Al 923
01 At2teltl 3,078 4,766 1,688
OsAl Ols2el XA X3
153,900 x 10523 3,078
= 2,155
Al 923
sS4 DB =4 9,400 9,400
201 =3 7,600 7,600 0




SN SYEH
B S)IAS OFF
el =Y 28y d3t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AfR22lH| 5,500 5,500 0
OMBHTHE] SIIBIAIE (S542) ZHl Zt
Xt 550,000 x5CH*23] 5,500
02 S3=gHl 2,100 2,100 0
OAlE &8I Xl 2,100
ISHAME AEEHISX(Z4I] S)
150,000 * 14CH 2,100
202 04l 1,800 1,800
01 2LHoIH 1,800 1,800
Osl2gdE8 Az ns o
150,000 4 & *33] 1,800
s0i2l sel+g 1,260,000 1,260,000 0
=S 504,000
Al 756,000
301 EtE NS 1,260,000 1,260,000 0
< 504,000
Al 756,000
14 JIEt2 = 1,260,000 1,260,000 0
Os02l s4+g X3
600,000 %2, 100 1,260,000
= 504,000
Al 756,000
JIE2g SYHAESHAE 300,000 300,000 0
Jl 300,000
301 EtE NS 300,000 300,000 0
Jl 300,000
14 0Bt 2as 300,000 300,000 0
OJl=¢ SAAEX(138na)
300,000,000& *14] 300,000
7l 300,000
Jl2g SYNEM #3338l Xa 10,000 10,000 0
Jl 10,000
101 @124H| 4,500 4,500 0
Il 4,500
M ORNZZ2NSE S 4,500 4,500 0
ORNEH oI oIAHY|
2,250,000 x18+2& 4,500
Il 4,500
201 2= 3,500 3,500 0
7l 3,500
01 AtR2t2|HI 3,500 3,500 0
OsM=HM 24| 3,500,000& %14 3,500
Il 3,500
202 04t 2,000 2,000 0




SN SYEH
B S)IAS OFF
el =Y 28y d3t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 2,000
01 2L AL 2,000 2,000 0
OBANEH 27 SXNES 0/t
2,000,000 *14] 2,000
Jl 2,000
sH=MolLSX& 54,180 54,180 0
=S 16,484
Al 37,696
301 EetE2 NS 54,180 54,180 0
== 16,484
Al 37,696
14 JIEt2d = 54,180 54,180 0
Osxe ol 2K (2ha)
6,900,000 *14] 6,900
= 2,300
Al 4,600
O=gel rMEs XI&(1,6008)
28,8003 x1,600& 46,080
s 13,824
Al 32,256
O Zet=e2 X2 (6H)
150,000 +8CH 1,200
= 360
Al 840
=S SSud WA 106,000 97,641 8,359
= 53,000
= 15,900
Al 37,100
307 elztol & 106,000 97,641 8,359
= 53,000
[ 15,900
Al 37,100
02 LB HAHE L 106,000 97,641 8,359
OZSS=2Wa VYT
5,300, 000& *20&] 106,000
= 53,000
[ 15,900
Al 37,100
SOELE MHIAMNE WS 60 0 60
= 0
< 9
Al 21
201 =3 60 0 60
= 30




SN SYEH
B S)IAS OFF
el =Y 28y d3t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 9
Al 21
01 AlR2teldl 60 0 60
Os0E2Y AHANE s X3
12,0002 500 A 60
= 30
< 9
Al 21
B Hoilsot FEetd TR 69,934 88,775 11,189
= 27,974
Al 41,960
301 LEetE N = 69,934 58,775 11,159
S 27,974
Al 41,960
14 JIEt2a3 69,934 58,775 11,189
OB THEHS Ot ZYOIF 2| X2
69,934,000 * 14! 69,934
< 27,974
Al 41,960
CE=:SIIH RIIHX K& 7,600 0 7,600
= 3,800
& 760
Al 3,040
307 elztol & 7,600 0 7,600
= 3,800
s 760
Al 3,040
02 QB AANEER 7,600 0 7,600
OL2=I13 ZIIHA X
7,600,000 1CH 7,600
= 3,800
=S 760
Al 3,040
=8 A8sIIH XS 26,250 0 26,250
= 7,875
Al 18,375
402 QI2F X201 & 26,250 0 26,250
= 7,875
Al 18,375
02 QI X2 AL EE(0IHTHE) 26,250 0 26,250
OUSE A8SIIH PAX
1,250,000 x21CH 26,250
= 7,875
Al 18,375




S
SHAaS oty
=0 M s (crel: &8
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Hdzste O=sd A8 dII2etx X 19,250 0 19,250
= 4,125
Al 15,125
402 212+ X+=01 & 19,250 0 19,250
= 4,125
Al 15,125
02 QI XHE AL E R (01X THE) 19,250 0 19,250
O0gzlstd Th=sd A8 MII2ERt X
5,500, 0002 *5CH*70f% 19,250
== 4,125
Al 15,125
sgdsg Jlgte= 123,251 115,414 7,837
= 9,864
== 3,884
Al 109,503
SI1EHIE XA (HE 100,267 99,79 468
307 212+01& 100,267 99,79 468
02 2B HAHE L 100,267 99,79 468
ORIIEHIZE X (766E)
57,767,000 * 14| 57,767
ORJIEHIZE XA (XtA)
1,7002%25,000% 42,500
ENEM X2 14,064 6,695 7,369
= 9,864
= 2,100
Al 2,100
307 el2to| & 14,064 6,69 7,369
= 9,864
= 2,100
Al 2,100
02 2B YAIHE & 14,064 6,695 7,369
OELHEH R (73E)
14,064,000 x14] 14,064
= 9,804
== 2,100
Al 2,100
slgtdsg H$HAxd K& 8,920 8,920 0
= 1,784
Al 7,136
301 EetE2 N = 8,920 8,920 0
s 1,784
Al 7,136
14 0Bt 2a s 8,920 8,920 0




SN SYEH
M SIAS oty
el AEdsY JeRE (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OrstFd=sd =8 XA (14ha)
8,920,000& * 14! 8,920
& 1,784
Al 7,136
Hetdsgy |4 156,560 177,680 A21,120
= 66,240
| 10,000
= 22,597
Al 57,723
TEtd=sey AEXEN 10,000 10,000 0
| 10,000
301 LB F 10,000 10,000 0
| 10,000
14 JIEt2 43 10,000 10,000 0
OHBASLREX K|
1,000,000& *10ha 10,000
J| 10,000
|, 2= N=2=N 6,800 6,800 0
& 1,360
Al 5,440
301 LPENZ 6,800 6,800 0
& 1,360
Al 5,440
14 JIEt2 43 6,800 6,800 0
ORI, 2= X% 220 (12ha)
6,800,000 * 14! 6,800
= 1,360
Al 5,440
et sitE SN 7,280 7,280 0
& 1,365
Al 5,915
301 LPENZ 7,280 7,280 0
& 1,365
Al 5,915
14 JIEt2 43 7,280 7,280 0
IEEENERIES
650, 0002 *1421%80% 7,280
= 1,365
Al 5,915
AR P2 KR 132,480 153,600 A21,120
= 66,240
= 19,872
Al 46,368
307 QIZ2t01 A 132,480 153,600 A21,120




SN SYEH
B S)IAS OFF
el EEseY =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 66,240
=S 19,872
Al 46,368
02 QI AHANEER 132,480 163,600 A21,120
Oguts HeFdssE R0l X2 (346H)
480, 0002 x345 2 +8(fk 132,480
= 66,240
= 19,872
Al 46,368
sl 2= 252,310 231,444 20,866
= 2,365
= 30, 144
Al 219,801
ISt EE K& 2,250 2,250 0
== 225
Al 2,025
206 M=l 2,250 2,250 0
< 225
Al 2,025
01 MHZH| 2,250 2,250 0
Ogs&Hl X 45,0002 *50% 2,250
= 225
Al 2,025
o= AN ol FZA 1,800 1,800 0
= 540
Al 1,260
307 @120l & 1,800 1,800 0
== 540
Al 1,260
02 LB HAHEE 1,800 1,800 0
OHoz= ATl J2HM X2 (1ha)
30,0002 60X 1,800
= 540
Al 1,260
Shs FUSEHS daie RE(TE) 16,500 16,500 0
= 4,950
Al 11,550
402 2I2F X201 & 16,500 16,500 0
== 4,950
Al 11,550
02 QI A= AE 2 (0l &) 16,500 16,500 0
Osas HUSEA= HIdoteAa EXIXE
3,300,000 x5& 16,500
& 4,950




SN SYEH
B S)IAS O
el s8I 23 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 11,550
HSoteA 258 ANES HAXY 30,000 30,000 0
== 10,000
Al 20,000
402 212 X201 & 30,000 30,000 0
< 10,000
Al 20,000
02 QIZEXHE AL E X (01X THE) 30,000 30,000 0
OttsoteA 238 ANEE HAXY
50,000, 000& *60% 30,000
= 10,000
Al 20,000
H 223 MK A 3,000 3,000 0
== 900
Al 2,100
307 212+01& 3,000 3,000 0
== 900
Al 2,100
02 LB HAHE L 3,000 3,000 0
OH 235 MAXH 10,0002 *300% 3,000
= 900
Al 2,100
st s2II=EEX K& 31,860 30,204 1,656
=S 4,779
Al 27,081
307 21201 & 31,860 30,204 1,65
== 4,779
Al 27,081
02 LB HANHEE 31,860 30,204 1,656
Ogt==08l &2 =8 A&
91,2002 x50 4,560
= 684
Al 3.876
Os&EXNTAte ME =55 A
60,000 330 19,800
s 2,970
Al 16,830
Os&E0d SsdEd: MUE 258 A2
60,0003 *83% 4,980
= 47
Al 4,233
O4tal sZII=88 M2 258 XY
30,0002 +84% 2,520
s 378
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SN SYEH
B =)lAS O
oo =8l B3 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OAZUs & AL 313 Al4
50,0002 *4Z 200
307 QI2tol ™ 29,300 29,300
02 QItBAAIH E X 2,400 2,400
OsEXNEXs S4AE XI&
2,400,000 %14] 2,400
04 CIZISHALAIRIE & 26,900 26,900 0
OXINEAl sSEHM 20 (sEXERE])
2,000,000&*12] 2,000
OML? Zois} =010 TRl DR (SEX
EXHgl) 1,800,000 *13| 1,800
O =0l Al LiE & A X3 (MEH
«3) 8,100,000& *13] 8,100
OA22NHS SIULISHAF X (MEIMLT)
3,000,000&*12] 3,000
OXIHEAl sSEH =0 (MEINLS])
2,000,000 *13] 2,000
O=ZEAE =gl stiotsiisl XI&
10,000,000 %13 10,000
SIS e 20 Y s 24,000 13,000 11,000
= 5,300
Al 18,700
307 212+01 A 24,000 13,000 11,000
& 5,300
Al 18,700
02 QIZtAAAIEE R 24,000 13,000 11,000
OsEXEXs sl E 2 us
250,0002 20 5,000
= 1,000
Al 4,000
Odaidsl sl 230 & U=
250,000&+20H 5,000
& 1,000
Al 4,000
O=gZgols sl 20 2 us
150,000& *20H 3,000
O4Hal Uiz &0 & W=s
11,000,000 & * 14! 11,000
= 3,300
Al 7,700
HEsgel 8=y He 20,000 9,600 10,400
301 YPENZ 20,000 9,600 10,400
08 2Iztel=2/04t| 20,000 9,600 10,400
ORIl o2l
2,000,000+ 10 20,000
Hd=sgel dEssig us X3 10,000 10,000 0
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sP=dEU= 3,130 4,000 A870
= 1,565
Al 1,565
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= 500
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03 A= &I 1,000 800 200
OMBH g501% 8 29|
1,000,000 %14 1,000
= 500
Al 500
301 EetE NS 2,130 3,200 1,070
= 1,065
Al 1,065
11 ALEIXIES 2,130 3,200 A1,070
OMdlf g5l WS ZAL &d| 24
2,130,000 *14] 2,130
= 1,065
Al 1,065
a3 Lot 2,379,653 2,403,827 N24, 174
= 34,948
Jl 429,247
=S 348,738
Al 1,566,720
=g =54 26,925 26,869 56
201 et 3| 1,300 1,300 0
01 At22t2l] 1,300 1,300 0
Oget=ZH| 1,300
ENSIIM BR LEY NE
2002 +2,0000H*22] 800
—SSLHA AW FH
500,000 *12] 500
202 04| 4,170 4,170
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150,000 3 +53] 2,250
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301 2 E = 14,905 14,849
14 J|Et2 a3 14,905 14,849
OSSge=2A =& 14,905
-YHES = 600,000& x1H«12& 7,200
=
9,736 *30AI2Hx 18123 3,505
-AEa2R+E 50,0002 x1& * 122 600
-=1 XI&H| 300,000 * 122 3,600
307 212to1™ 6,000 6,000
02 2B YA E X 6,000 6,000
OSUSOIEFHH X XFAS
400, 0002 *302+ A #50% 6,000
JIEWA X3 (F M) 10,277 10,277
= 6,743
= 1,061
Al 2,473
206 =4I 9,217 9,277
= 6,243
< a1
Al 2,123
01 MHZH| 9,277 9,217
OFNIS Hal K& 8,947,000 14 8,947
= 6,078
= 861
Al 2,008
O7 M HAES AEYHARSHA
3302 +1,0005 330
= 165
[ 50
Al 115
301 LENZ 1,000 1,000
= 500
& 150
Al 350
14 JIEt2d= 1,000 1,000
OFNSE & HLES A=l
5,000 2005 1,000
= 500
= 150
Al 350
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206 =8l 1,000 1,750 AT50
& 250
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01 =8l 1,000 1,750 AT50
O MADISEIIESED BHAXA
2,000 *5005 1,000
T 250
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Gl AL & DIMES2H &= A& 30,387 30,785 A398
= 21,765
& 3,029
Al 5,593
206 =4l 29,187 30,785 1,598
= 21,165
T 2,849
Al 5,173
01 =8l 29,187 30,785 21,598
OUlZ==A 2 JMEFH 43 K&
29,187,000 & 14! 29,187
= 21,165
& 2,849
Al 5,173
307 2I2+0l ™ 1,200 0 1,200
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Al 420
2 QIZHEMANEEX 1,200 0 1,200
OHXIMZHI0IHA 22X
2,000& *1,0005*60% 1,200
= 600
& 180
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A B=24ety olg XA 2,000 1,300 700
= 390
& 413
Al 1,197
301 LPENF 2,000 1,300 700
= 390
& 413
Al 1,197
14 J|EI2 A3 2,000 1,300 700
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Al 637
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= 140
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SSEME el Xd 27,740 42,498 N14,758
Jl 13,870
= 4,161
Al 9,709
307 gl2to| & 27,740 42,498 AN14,758
Jl 13,870
= 4,161
Al 9,709
02 2B YAIHE £ 27,740 42,498 A14,758
OSSN 21|
27,740,000 * 100 £ 27,740
) 13,870
= 4,161
Al 9,709
SN =23l X2 16,282 0 16,282
Jl 8,141
S 2,442
Al 5,699
307 elzto| & 16,282 0 16,282
Jl 8,141
S 2,442
Al 5,699
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OzSYHE 2|
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RA - I BRA(E) - HRA - BES of vy A
01 At2t2ltl 31,900 31,900
Oget+=ZHI 12,000
“2AxA 2E N
1,000,000« 1290 & 12,000
OJI=29 i S20A8l
8,000& 4 »502 1,600
OJ=ES Z2HHE MEH(A)
50,0002 *107H 2 500
O&XMEIE Meldl(EHg)
15,000,000 * 14 15,000
Oaxz ZHl gxt=
35,0002 *8AI2++ 103! 2,800
02 3224l 18,860 18,860
Ogszs 2R3 Y AR, 45 5)
400,000& 12902 4,800
OgdAxzA ASHEX HZHI
750,000& 1200 2 9,000
OAIZ8ZHl |XIH| 5,000
“HELASAE(ESEEA) 2 ST 2l
b S 5,000,000& 14] 5,000
OJIsYaxte FUAUAEX Stz
4,903+ 101+ 1200 2 60
206 =4I 16,900 16,900
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OgoA=EsEHI(La=s, 0123, FHI)
8,000 *500SET 4,000
Odidzl 2 4,000 5005 2,000
O=HUHALEDIE =T A2 B
mbs| 20,000 *30IH*62] 3,600
301 LENEZ 5,000 5,000
14 DIt 243 5,000 5,000
OZEIIE &2 2d=
5,000,000& «14! 5,000
tEgAESHI(S2]) KIAA 12,000 12,000
S 2,400
Al 9,600
301 2N = 12,000 12,000
S 2,400
Al 9,600
14 J|Et2 a3 12,000 12,000
OJt=ggstl(3+2l) XA
1,000,000& x1E 12 12,000
= 2,400
Al 9,600




od
i’
oF
uJ

S A

+

S S S
0] O 0]
no
KIO
E
=)
] 8 38 ] 8 ] ] ] ]
S S S S S S B 5 2
& & & N N &
LH3r
1]
RIS
S8 888818 8828383883888 8838838838 8888338338 833
SSZ|leg83|s SS9 I8IIIBDIT I8 S ITF|soI|os8 s S o Ilbddbddb B A
BT I8 TIB 88 I N © 2|82y §@e=e
ar
d
S
W =| W= W=l ~=| ~= ~=| W= W= W =
& & 1o iof
L ¥ IS =
0 a = x
S - A oy
y . :
) z 8 g8 3
. > m m
o g =
<
s
N ) X
= = )
S = [ -
- = = D
e i =B & I 2
= o o D D
) %) 20 & 5 i U )
RO ol = 5l gl = = ~
s R N g |5 =




SN SYEH
B S)IAS O
Chel: ZAAM 23| (Shol: &2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Sat=0152e] X 1,344 1,344 0
Il 672
S 202
Al 470
307 212t01& 1,344 1,344 0
v 672
S 202
Al 470
02 QItEHAIEE X 1,344 1,344 0
OFMts01=2te] X2 (1405)
9,600 * 1405 1,344
Il 672
= 202
Al 470
SRSE NEAME 420 420 0
[ 84
Al 336
307 212t01™ 420 420 0
= 84
Al 336
02 QI HAANEE X 420 420 0
Ot S5 XA (60F)
7,0003+60% 420
S 84
Al 336
StueegA A 1,757,900 1,800,573 N42,673
Il 354,900
= 292,330
Al 1,110,670
307 @20l & 1,757,900 1,800,573 N42,673
Jl 364,900
= 292,330
Al 1,110,670
02 QI HAANEE X 1,757,900 1,800,573 N42,673
Ot DRI X (4,9802)
591,500,000 x 14 591,500
Il 364,900
= 59,050
Al 177,550
OstneRaA!l & XI2(13,500%)
1,166,400,000& *14] 1,166,400
== 233,280
Al 933,120
SHESOHM E 119,616 112,000 7,616
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el SaFdE Hal EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 51,264
=S 20,506
Al 47,846
301 EetE2 NS 119,616 112,000 7,616
Jl 51,264
= 20,506
Al 47,846
14 JIEt2a=S 119,616 112,000 7,616
Ostls0HME 320, 0002 *534EH *7(fk 119,616
Il 51,264
= 20,506
Al 47,846
= (iHl D2 AEYHA2SHM K& 8,500 8,500 0
=S 100
Al 8,400
206 M=H| 8,500 8,500 0
== 100
Al 8,400
01 M= H| 8,500 8,500 0
OZUHl DSAEYASSHH KR (SA)
500,000 x1=Jt 500
= 100
Al 400
O=ZgUHl D2AEA25HH X
250,000 *32 0t 8,000
E2s 22 333,310 195,410 137,900
= 28,425
= 22,900
Al 281,985
S=ES MY 151,550 129,000 22,550
= 11,025
= 15,520
Al 125,005
301 EtE N = 144,350 129,000 15,350
= 11,025
S 16,520
Al 117,805
14 JIEt2d=3 144,350 129,000 16,350
ORJISSEsdH 2gHl XI&
200,0002+3880t 2| 77,600
= 15,520
Al 62,080
ORARIISE *EES XA (X =2HI)
70,000& »5250+2| 36,750
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el SEES 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 11,025
Al 25,725
ORJIS=SEsdH 2gHl XI&
100,000& »2000}2 20,000
ORARIISE 2225 (M)
100,000& »1000+2| 10,000
402 BIZtAH=01H 7,200 7,200
03 2IZHRAETAIHHI 7,200 7,200
ORIISEESA A4 U
240,0003 *30H 7,200
RERIISS LA N 6,000 6,000 0
= 3,000
Al 3,000
301 EtE2 NS 6,000 6,000 0
= 3,000
Al 3,000
14 J|Et2a s 6,000 6,000 0
ORJIsE 2l X2
250,000 =400+t *60% 6,000
= 3,000
Al 3,000
2020l S4d3 ==H| ANFAS 124,160 55,410 68,750
= 14,400
Al 109,760
206 MH=H| 2,160 2,160
01 M=4l 2,160 2,160
OZDA0l SAlA 2E AlE 7Y S
180,000 * 1204 & 2,160
301 LELEE S 122,000 53,250 68,750
= 14,400
Al 107,600
14 IIEt2 83 122,000 53,250 68,750
OZ 00| S4str=Hl N&H
200,0002 +3600t 2| 72,000
= 14,400
Al 57,600
OZ 0| sS4t X
200,000& »2500t2| 50,000
glolsE 23t 2t 6,000 5,000 1,000
201 er23| 6,000 5,000 1,000
01 At2tltl 1,000 0 1,000
Odgt=3=H| 1,000
-thelse 2ot #dh 82 HHY #+% A
= 50,0002 * 107K 500
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SN SYTHD
M stgA X Hat
el guags 28 A3 (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
O=2g=¢g 8,620
S DIANE AoSRE 519 S
70,0002 112 #25] 1,540
S JIHZH Ao9IAs Blol4y
70,0002 7%+ 123! 5,880
SRBANE AoRIRE AT B Xt
HEE #0==Y 100, 000& »2Z +62] 1,200
202 OH| 1,800 1,800
01 201l 1,800 1,800
O=LHoH| 1,800
S DIA AR BE DXEY
150,000& 22 +32 900
_SDIANY 2 2L
150,000 x2&*32] 900
308 AHXIEMSOIE 13,715,949 7,330,695 6,385,254
= 1,405,664
Al 12,310,285
08 W=J 202X 13,715,949 7,330,695 6,385,254
OstnBAl FEBSLE ATE g
5,054,907,000& * 14! 5,054,907
S 1,263,727
Al 3,791,180
OstnIAl FEA=NS ATIZ X012
g HRg=) 607,600,000 *14] 607,600
Ostulg4! Non-Gi0 A HE X1
567,747,000 14 567,747
S 141,937
Al 425,810
OFWZA! Non-M0 ATHE XIR(DEEH)
155,000,000& *14] 155,000
o4l NH(£.55D)
4,275,981,000& «14 4,275,981
OS43AH XA (2SED)
3,054,714,0002 * 14! 3,054,714
HE2SZH (=H ) 65,730 65,310 420
Jl23t(sgE ) 65,730 65,310 420
Jl2dHl(=sgd ) 65,730 65,310 420
201 L= 24,630 23,670 960
01 AF2-2t2ltl 24,630 23,670 960
Ogegt+=ZHI 16,950
-JIZAMRESHI 100,000 *16H 1,600
-SAEX 2 23,0003 102t A+ 128 2,760
“SAD| =8Hl S |A2e
500,000 *3CH*12] 1,500
-SAPD EE 2 330,000 *3CH*43 3,960
-SAPD EY 2 150,000 »3CH*42] 1,800
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SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
HOINZRlE EH 2
237, 0002 *5CH*43] 4,740
“mAlYR] £ 72
110,000 *2CH*23| 440
J|2HAZESYI 150,000 * 12| 150
o=l 7,680
-S20HAHI 8,000 x16Z 53| 12& 7,680
202 04dl 38,400 38,400
01 =LHOdH] 38,400 38,400
SQEMOID EX 2|
20,0003 *168*102] x 122 38,400
203 AR F=&lh| 2,700 3,240 AB40
M A2IHRFAL 2,700 3,240 AB40
O=sdE 3 250,000 * 122 x90% 2,700




